4C Divide 4-digit numbers by 2-digit numbers ]7

i id‘ the following and tick th Mc rrect answer from the lis

4,192+ 32 Bk, O 133 013

3,641 + 11 P 334 O z3s O 33
5,258 = 47 D111R£1 D 156 R 2 D15 8
7,476 = 42 179 178 18
9,849 + 21 D46 D 452 DJ 467
3,084 + 71 DAZR'%O D 43 R 3] DA"'RZZ
7,980 = 95 Oss O g3 Os
6,337 +~ 28 26 R 9 DQ’7F2Q DQ 6 R 10
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ivide the following and tick the r&msk correct answer from the lis

4,192 + 32 Oz 0O 133 3
3,641+ 11 O O 335 M 331

pd
5,258 + 47 MmRu O 56r2 J s6rs
7,476 = 42 17 il 17 180

'/
9,849 + 21 MAGQ D 452 QJ 467

pd

3, 084 + 71 4z r30 m 43 R 31 0O 4z r 33
7,980 + 95 Oss O g3 il 8
6,337 +~ 28 226 R 9 DQ’7Feq (] 226 R10
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